
SAP ABAP table TVFK {Billing: Document Types}

TVFK

MANDT [CLNT (3)]

FKART [CHAR (4)]

KALSMC [CHAR (6)]

FKARTS [CHAR (4)]

TXTGR [CHAR (2)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

KVSLV [CHAR (3)]

KALVG [CHAR (1)]

TXTGR_P [CHAR (2)]

KALSMBP [CHAR (6)]

FKART_RL [CHAR (4)]

HITYP_PR [CHAR (1)]

FKART_AB [CHAR (4)]

J_1BMAINPA [CHAR (2)]

J_1BTDIDH [CHAR (4)]

J_1BTDIDL [CHAR (4)]

BLART [CHAR (2)]

KALSMCA [CHAR (6)]

KALSMCB [CHAR (6)]

KALSMCC [CHAR (6)]

KALSMCD [CHAR (6)]

UVEIB [CHAR (3)]

FKART_MEV_RESET [CHAR (4)]

OIC_FKART [CHAR (4)]

OINETRPT [CHAR (40)]

 TVFK-FKARTS = TVFK-FKART 
0..N1

 TVFK-FKART_AB = TVFK-FKART 

0..N{0,1}

 TVFK-FKART_MEV_RESET = TVFK-FKART 

0..N1

 TVFK-FKART_RL = TVFK-FKART 

0..N
{0,1}

 TVFK-OIC_FKART = TVFK-FKART 

0..N
0..N

J_1BAD

MANDT [CLNT (3)]

PARVW [CHAR (2)]

 TVFK-J_1BMAINPA = J_1BAD-PARVW 
0..N

{0,1}

T000

MANDT [CLNT (3)]

 TVFK-MANDT = T000-MANDT 
0..N

1

T003

MANDT [CLNT (3)]

BLART [CHAR (2)]

 TVFK-BLART = T003-BLART 
0..N

{0,1}

T609B

MANDT [CLNT (3)]

KPEXI [CHAR (1)]

UVEIB [CHAR (3)]

 TVFK-UVEIB = T609B-UVEIB 

0..N

1
T681A

KAPPL [CHAR (2)]

 TVFK-KAPPL = T681A-KAPPL 

0..N

1

T683

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

 TVFK-KALSM = T683-KALSM 

0..N
{0,1}

 TVFK-KALSMBP = T683-KALSM 

0..N{0,1}  TVFK-KALSMC = T683-KALSM 
0..N

1
 TVFK-KALSMCA = T683-KALSM 0..N

{0,1}  TVFK-KALSMCB = T683-KALSM 
0..N

{0,1}  TVFK-KALSMCC = T683-KALSM 

0..N

{0,1}

 TVFK-KALSMCD = T683-KALSM 

0..N

{0,1}

T687

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

KVSL1 [CHAR (3)]

 TVFK-KVSLV = T687-KVSL1 
0..N

{0,1}
THIT

MANDT [CLNT (3)]

HITYP [CHAR (1)]

 TVFK-HITYP_PR = THIT-HITYP 

0..N

{0,1}

TRDIR

NAME [CHAR (40)]

 TVFK-OINETRPT = TRDIR-NAME 

0..N

0..N

TTXG

MANDT [CLNT (3)]

TDOBJECT [CHAR (10)]

TXTGR [CHAR (2)]

 TVFK-TXTGR = TTXG-TXTGR 

0..N

{0,1}

 TVFK-TXTGR_P = TTXG-TXTGR 

0..N

{0,1}

TTXID

TDOBJECT [CHAR (10)]

TDID [CHAR (4)]

 TVFK-J_1BTDIDH = TTXID-TDID 

0..N

0..N

 TVFK-J_1BTDIDL = TTXID-TDID 

0..N

0..N

TVKV

MANDT [CLNT (3)]

KALVG [CHAR (1)]

 TVFK-KALVG = TVKV-KALVG 

0..N

{0,1}


